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2⃝ を代入して，
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4⃝ と 5⃝ から，
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これは 3⃝ に矛盾するから，x < 3

よって，x = 2
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ここで，y ≧ 4と仮定すると，1 + 1
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8⃝ と 9⃝ から，
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これは 7⃝ と矛盾するから，y < 4



x ≦ y で x = 2であるから，y = 2 , 3

y = 2 のとき，z = 15

y = 3のとき，z = 5

以上から，(x , y , z ) = ( 2 , 2 , 15 )，( 2 , 3 , 5 )


